ITI Welder 1st Year Module 2 Metal Joining & Cutting process

(1). Why the surface cleaning is important? | ddg Pl Huoléam“f Hscdlzl\UT%?
(A) Remove oil and paint | aaaﬁvﬁfsa%
(B) Remove metal | ﬂ]ﬂﬁﬁl@f

(C) Remove weld bead | ace HP] FpTa
(D) Remove weld defect | a@m@ﬁ

Correct Answer : A

(2). How many types of fundamental circuit? | WWWW%@%
82

(A) 2

(B) 3

(C) 4

(D) 5

Correct Answer : A



(3). What is name of blowpipe part ‘x’ shown in figure? | ICEE:] faQme TI'QW
YT ’x’ T TH T g2

(A) Oxygen inlet | RICHISE 5'1@16

(B) Oxygen control valve | 3o g0 dred
(C) Acetylene control valve | qi%r%?ﬁqﬁuammc—d
(D) Oxygen cutting lever | 3o ST dlar

Correct Answer : D

(4). What is called the degree of hotness or coldness of body? | YRR B TR AT
38H ! U &1 T Hed 62

(A) Heat | Bl

(B) Pressure | Gdld

(C) Resistance | IGEIE]
(D) Temperature | dIUHIT

Correct Answer : D



(5). What is the effect shown in figure? | o o fezaman T yHTg T 8
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(A) Gravity force | {NCOIIOIOBICUI dci
(B) Gas expansion | g &1 fadR
(C) Surface tension | Hdg d-ld

(D) Electro magnetic | $Q}1d'§\l ﬂGIOI‘Jan

Correct Answer : C

(6). What is called current? | WWW%’P
(A) Protons motion | qie= i

(B) Electrons motion | @Eﬁﬁﬂﬁf

(C) Neutrons motion | %TT'[‘TI%T

(D) Molecules motion | \’rI'U\LGﬁﬁ‘Tﬁf

Correct Answer : B

(7). Which type of wire brush is used to clean the Non - Ferrous metals? | &IFﬁ_G’

T3 1 ATH B & o8 fohd TP & IR 1R 1 SUTNT foha STl /72
(A) Mild steel | W@ﬁ




(B) Carbon steel | PTa- Wi
(C) Stainless steel | TAad ©d

(D) High carbon steel | 3T HTa- STT

Correct Answer : C

(8). What is the name of the voltage shown in figure? | ICEE:] f[gQq TI'QEﬁ@TFTW
T g2

WELDING
MALCHMNE

T

(A) Arcvoltage | 3T el

(B) Open circuit | 'E;F’ITW

(C) Closed circuit | s gfbe
(D) Reversed circuit | JdeT gidhe

Correct Answer : B



(9). What is the name of the part ‘X’ shown in figure? | Wﬁlﬁ |3€°|IQ MU HYAT X'
HIAH AT B?

WELDING
MAGHINE X

(A) Job | SIid

(B) Electrode | 3@3@3

(C) Current | ¢

(D) Molten globules | HiceA ‘Q‘I\I&LQ'%I

Correct Answer : B

(10). Which one is insulator? | GaE Wifﬁ@k‘.{ %?
(A) Rubber | Xdg

(B) Copper | GG

(C) Carbon | AL

(D) Aluminium | H?ﬂ'ﬁﬂﬁﬂﬂ

Correct Answer : A

(11). What is the name of joint if two members welded in the same plane? | tl'%

U & dd | &1 HTeR B dcg fhAT SIar g, dl Siige b1 AT T 82
(A) Lapjoint | a'quylg_C'




(B) Tee joint | EFT\_II'\II%_C'
(C) Butt joint | € Silgc
(D) Edge joint | QTYTGlU'IE_C'

Correct Answer : C

(12). Which hand tool is used to remove excessive adhering slag after gas cutting?

| 19 BT & T1E i U ar T &1 geH & fore fra 88 ga a1
IUANT fosaT ST 87

(A) Chisel | TeoT@
(B) Flat file | Teic BTSd
(C) Chipping hammer | ﬁf@”’[%ﬂ?

(D) Cross cut hammer | g PHe %HQ

Correct Answer : A

(13). What is the melting temperature of soft soldering? | TG TSN &l
frae o1 dMIH= 1 82

(A) Below 350°C | 350°C ¥ =l
(B) Below 420°C | 420°C ¥ -dl
(C) Above 420°C | 420°C ¥ U

(D) Above 500°C | 500°C ¥ U

Correct Answer : B

(14). Which type of wire brush is used to clean the ferrous metals? | ?‘ﬁ_s' ‘Lﬂﬂ\?ﬁ

DI YTh B P o0 o YR & IR 5127 BT IUANT {1 ST 82




(A) Mild steel | Behl KA
(B) Stainless steel | TAad ©d
(C) Carbon steel | PTa- K

(D) Low carbon steel | H cb|cf-| UId

Correct Answer : C

(15). Which one is a good conductor of electricity? | GAC K| f&qu hT H=I]
YA 6?2

(A) Wood | I al

(B) Mica | YD

(C) Copper | GIE]

(D) Plastic | WRedh

Correct Answer : C

(16). How many types of oxy - acetylene flames are used? | fhad UPR &t

STeret- TR el Ut o1 SUANT fobar ST &2
(A) 2
(8) 3
(C) 4
(D) 5

Correct Answer : B

(17). What kind of energy is an electricity? | ﬁwm UhR Pl d)\ﬂT%?
(A) Visible | €RYHIT



(B) Invisible | 3€RY
(C) Seeable | RCERIIEEs)
(D) Transparent | RGN

Correct Answer : B

(18). How many types of soldering can be classified? | fhd- YR & Aie R ®I
Ffferd foram o TahdT g2

(A) 2
(B) 3
(C) 4
(D) 5

Correct Answer : A

(19). What is the name of the machine shown in figure? | ICEE:| Ié@lé Tlérﬁfﬂ:f
&1 AT T 82

(A) Brazing | SifoiT



(B) Soldering | QIS AT
(C) Grooving | Zﬁ'ﬂ
(D) Forging | HIfST

Correct Answer : C

(20). What is the circuit name, if the resistance are connected side by side? | tl'%
TfeRIY SATA-STd SIS B dl Widhe T -1 a1 g2

(A) Series | H@?ﬂ
(B) Parallel | JHMIR

(C) Inclined | s‘rlaﬁ—s’
(D) Circular | W

Correct Answer : B

(21). What is the temperature of arc? | WWWW@W%’P
(A) App 2500°C
(B) App 3600°C
(C) App 5000°C
(D) App 5500°C

Correct Answer : B

(22). What is the advantage of brazing? | i O Wwidal o4l %?
(A) No flash | ﬁémqﬁ

(B) Porosity | IRYUdT

(C) More spatter | 3{%@?



(D) More distortion | Gﬁ%ﬁ?ﬁ

Correct Answer : A

(23). Which nozzle shown in figures requires replacement of nozzle? | ICEE:|

faETE 7T B9 F o B! UfTRITIT o1 TIRghdT 82

(A) Nozzle A | AST@ T
(B) Nozzle B | AITd &t
(C) Nozzle C | AIoTd 4t
(D) Nozzle D | ST S

Correct Answer : D

(24). What is the use of ammeter? | QIHEQ WWW%?
(A) To measure current | WW%W



(B) To measure voltage | aﬁé%rmﬁ%ﬁ«m
(C) To measure pressure | Wﬂ]ﬂe{%ﬁfm
(D) To measure resistance | cri%lﬁamuﬁ%ﬁ«m

Correct Answer : A

o

(25). Which tool is used to open the cylinder valves? | | I REINE! %%‘I'Q
for SUHRUT T IUGIT fohaT STl 82

(A) Wrench |§?[
(B) Spindle key | sa ot
(C) Cutting player | WI_SC@P:IT

(D) Adjustable spanner | THEANT W)

Correct Answer : B



